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Tasize=120 1 TUTee27M4£12120 28212819020
2521 20U g202¢258°T282UL (28200 ©5°12UE 12852120 pd=2UU°sL) g=2eai

(N=%=f 1A3UY»RAT)

= ol “laie»W=(CY TSES»AC -anT=63T3Y 136¢313/-03Y | 3 ATasu
= = 59 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA
o2 2 E ,:3 pInLpbnwihb dwiuutiph inbwnbuwghunwywb c = Junswywb pnigt | $nlnuyhl pyniet
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
AU _2@g°UA T2Eé°5 45,755,000.6 47,149,942.2 (1,366,941.6)
2100/01/0 | O AU _p=20as6 ~UacUAL 2082040 3,030,576.7 2,631,381.1 399,195.6
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 2,633,176.7 2,527,981.1 105,195.6
S»T313Y I36373A40U, yCY3YVE3I3Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 2,633,176.7 2,527,981.1 105,195.6
2631340
31 ATa0
1. T36373AU3Y U3A0YC 83NE3Y4a0U 2,603,176.7 2,527,981.1 75,195.6
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 1,335,490.0 1,335,490.0 -
NS T»E3Tx3AY»A
- &3-S TRaUY»A, 1ASUST3Y EASE4&ieaiUY»1 4112 120,194.1 120,194.1 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 67,958.1 67,958.1 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,676.9 5,676.9 -
- T3AC 1363(a0AlasYY»fi 4214 60,995.5 60,995.5 -
- 283413 -A3T3Y I3Eé»A 4215 1,646.0 1,646.0 -
- aluC  e3AUS TaRasUY»AC TSAOST3tacAlasY 4216 100,800.0 100,800.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 50,000.0 50,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 1,275.0 1,275.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 33,466.8 33,466.8 -
- 2RESTST33UC UBEY3-Cr3T3Y 136 - 3603Y 4233 9,240.0 9,240.0 -
1=3¢3{a0AlasYY»h
- DO T3 TT3T3Y 1363[a5A145YY»f 4234 28,733.6 28,733.6 -
- T363T3E3T3Y 1363a0AlasYY»i 4235 10,000.0 10,000.0 -
- U»AT3(=064068313Y 13Eé»i 4237 81,617.5 81,617.5 -
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= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

[ 2 3 =t U»YA

e pINLobWIhG dwiuutph nbunGuwghnwywl = Jwpswywh pneet | $nlnwihl pnuet

LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 256,452.5 256,452.5 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 2,500.0 2,500.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 209,813.0 209,813.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 29,168.1 29,168.1 -
- TASYE AT 3ICY YiaoA»f 4264 68,226.0 68,226.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 5,720.0 5,720.0 -
- DA YA 213y 3 YidsA»i 4269 6,000.0 6,000.0 -
- W Gwwuinbbp pinuotihg 4729 37,050.0 37,050.0 -
- A3A31CA Tx3AY»h 4823 958.0 958.0 -
- 2[f I=Eé»h 4861 5,000.0 5,000.0 -
- TABYEAAAT3(CY 63hu=Tanaiuy»h 5121 18,000.0 - 18,000.0
- T 3EST3Y 6303 TanaiUY»h 5122 57,195.6 - 57,195.6
2. duwpswlwl opibyinGlinh hhoGwlnpngnid 30,000.0 - 30,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 30,000.0 - 30,000.0

2150|101 | 5 | O |LanhwGnip pGniyph hwipuyghG 294,000.0 - 294,000.0
T36346AIacYY»AC - T&T N» T3%41313Y
YSE3.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 294,000.0 - 294,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 254,000.0 - 254,000.0
- USE=- 1213 r3T3Y 1SEé»f 5134 254,000.0 - 254,000.0
2. OA"3Y 03030¢ -FE3idA N3 T313-I¢ 6,000.0 - 6,000.0
xB- AT EU
- USE=- 1213 r3T3Y [SEé»fi 5134 6,000.0 - 6,000.0
3. Y47 C3idAU3Y ~ 136406383 1U3Y 9,000.0 - 9,000.0
Y3E3- I»AC UB3T14a6U
- USE=- 1213 r3T3Y [SEé»fi 5134 9,000.0 - 9,000.0
4. 9303038CY3T13Y Y»A1AaoU3icy 25,000.0 - 25,000.0
13- A»Ag UB3146U
- USE=- 1213 r3T3Y [SEé»fi 5134 25,000.0 - 25,000.0

2160|01| 6 | O |LanhwGnip pGniyph hwlpuyghG ) 103,400.0 103,400.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco’
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ” anwihG
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 135337 U3Y a1 T3IY»AC 3YT3YaiUY»iiA £
1 |23 |4 5 6 7 8 9
2161|101 | 6 | 1 |COnhwGntp pOnyph hwlpwihG SwewynieNLGbGEn (wy 103,400.0 103,400.0 -
13¢»ACY 83T 13Y40)
3 Ara0"
1. _ CU46UY»A, N3I631C0450Y»A, 13T 3A3YC 25,000.0 25,000.0 -
4A4BAGUY»AC "~ TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NU3Y I3 ix3A460Y»i
- A3A31Ch Tx3AY»h 4823 25,000.0 25,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 78,400.0 78,400.0 -
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» 71
I3&T31 ix37460Y»A
- @3eY3 -0 3T3Y 1363(aAlasy Vi 4241 23,400.0 23,400.0 -
- A3A31Ch Tx3AY»h 4823 55,000.0 55,000.0 -
2200[02|0 | 0 a=2ptaz0acAlasy 20,000.0 20,000.0 -
3 Ara0"
222002 | 2 | 0 |8303036¢313Y 381 E3Ya0Ala6Y 20,000.0 20,000.0 -
£l
2221102 | 2 | 1 |@=03036C3T3Y &3 A3YasAlasy 20,000.0 20,000.0 -
3 Ara0"
1. 3030360313y 83U E3YA0AI3YY 20,000.0 20,000.0 -
Sc31640AI46Y
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 20,000.0 20,000.0 -
2400(04|0 | 0 TUTe82T20 p262"25a0A0a500°8 8,805,770.0 14,416,165.8 (5,610,395.8)
3 Ara0"
2420|04 | 2 | O | /4603 1Y U »E40A146Y, 3Y 1363y 350,000.0 - 350,000.0
TYU»éa0Alacy, OTvaneaolliasy -
anéaniacAlacy
£l
2424|104 | 2 | 4 |&éa-&il 350,000.0 - 350,000.0
3 Ara0"
1. Aé4-U3Y 63Y6C 136406460 ~ 350,000.0 - 350,000.0
I»A3Y4A4 - 46U
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 350,000.0 - 350,000.0
245004 | 5 | 0 | TA3YE&4AT 15,795,918.3 13,523,607.8 2,272,310.5
anco
2451|104 | 5 | 1 |O03Y=2a3A(S(CY wASYeAaRT 8,101,310.5 5,869,000.0 2,232,310.5

=t ATai0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pintebiinuhh dwiuubph inbGuinbuwghunwywb e = Jwnswywl pnigt | dnlnwihl pyniet

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. Uupwywn-punbu dwdlh Jbpwlnpngnid 4,584,000.0 4,584,000.0 -
" &3NE3YAU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 4,584,000.0 4,584,000.0 -
a3Na=vail
2. Uupuwywn-punntyw dwédyh hhdGuwlnpngnid 350,000.0 - 350,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 350,000.0 - 350,000.0
3. OUABUBA»AC I»ASYAAE - 46U 23,000.0 - 23,000.0
- P»YU»AG ~ RCYAAIAYY»AC TBACT 3t I»i=Vana-al0 | 5113 23,000.0 - 23,000.0
4. D»Y3E3U»AC I»A3YEA4 - 40U 170,000.0 20,000.0 150,000.0
- P»YU»fiG " T2640l6Y»AC AYAS36CT Yaria- 4ol 4251 20,000.0 20,000.0 -
a3Na=vail
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 150,000.0 - 150,000.0
5. D»WCATY 3Y640UY»AC 136466460 587,000.0 15,000.0 572,000.0
I»A3YAahi4 - 46U
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 15,000.0 15,000.0 -
a3Na=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 572,000.0 - 572,000.0
6. T3UAc3cY 136406 I3 10Y»AC 110,000.0 90,000.0 20,000.0
I»A3T3Y- Y460 ~ §3NE3Y46U
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
- P»YU»AG ~ RCYAAIAYY»AC TBACT3E T»i=Vana-4l0 | 5113 20,000.0 - 20,000.0
8. @31[ai0CY»A¢C ~ +~a046Y»Ac 817,810.5 - 817,810.5
I»A313640640U "~ NCUY3Y&AE - 46U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 817,810.5 - 817,810.5
9. 64046Y»AC A3NE3YA6U » T B3N3 - 4AT400 60,000.0 60,000.0 -
- P»YU»iG " T2640l6Y»AC AYAS6CT Yaria- 4ol 4251 20,000.0 20,000.0 -
a3Na=vail
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
10. 2ZiTaI3/3Y31»0C 13403 1»A803Y 700,000.0 700,000.0 -
1363/46Ala6Y
- 2[f 1=Eé»h 4861 700,000.0 700,000.0 -
11. A»03N3AA3TY»AC 136466400 40,000.0 - 40,000.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 40,000.0 - 40,000.0
12. Uywnnpriulbpnid pbpwhwppwllbbph 30,000.0 - 30,000.0
383N4i46U
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 30,000.0 - 30,000.0
13. 64046Y»AC, NABA3AZTY»AC ~ 3i-CY»AC 229,500.0 - 229,500.0

I3N=371anaoy
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA
= = 3 =g U»YA
wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 200,000.0 - 200,000.0
- UlasA»f =" A3A= - 3Y»f 5221 29,500.0 - 29,500.0
14. Uupwywb pwlGlyh wowlgnipjwdp 400,000.0 400,000.0 -
CA3TI3Y36i40 u30303icY
»YABI36460 I3 10Y»AC ~ u3030¢ 1346V
B30 - 30U3Y Y»A1A46U3IcY TA=-AC CAS6U3Y
UCcd63640UY»i
- W Gwwuinbbp pinuobihg 4729 400,000.0 400,000.0 -
2455| 04 | 5 | 5 |E&A0ATST3R3AZICY * 3 wASYE 4R T 7,694,607.8 7,654,607.8 40,000.0
3 ATasu
2. OA"3YC U» WAEREFCT»YC 3BE3T3Y0Y»A 2,512,834.6 2,512,834.6 -
I335U31»A8400 (A3 T ICASTT3I
EQ 2347404140 YY»H)
- Untpuhnhwbp ng $hOwbuwywl wtnwyw 4511 2,512,834.6 2,512,834.6 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
3. I»A-»>TYIB (I TASTA3YER4ATAT 466,916.3 466,916.3 -
400 4A3+4E31AU3Y [363/46Ala6Y
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 466,916.3 466,916.3 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. I»A313640003Y ~ $3A- 36U3Y 1,656,335.5 1,656,335.5 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3I3Y36740 ©A"3YC U» TAAAEECT»YC
I»A3136400U3Y »AlA4A [A3-CA
(B3TICAZTT31 EC334AA0AIA6Y Y»A)
- 2k I=Eé»i 4861 1,656,335.5 1,656,335.5 -
5. 6Ypnwwlwl Gapnpntdughl pwllyp 1,635,781.5 1,635,781.5 -
wowlygni pruid, wlwawgynn Gplwl
U» TAEREFCH»YC I»AST36400U3Y »AlAant
[A3-Ch (A3 T ICA3IT3I FC3%4R40AI46YY»H)
- 2k I=Eé»i 4861 1,635,781.5 1,635,781.5 -
6. CiIAAAZ13Y UC46AI3Y N3A"3YA46AI=Y 1,382,739.9 1,382,739.9 -
Gbpnpniduyhl 6puigph wowlgnipjudp
CA3I3Y36740 ©A3YC U» TAAAEECT»YC
I»A3136400U3Y »AlAEAL 1A3U3BYAANZICY
IA3-Ch (A3 T TCA3IT3I FC3%4R40AI46YY»H)
- 2t ISEé»f 4861 1,382,739.9 1,382,739.9 -
7. §CA3YC (i T T AT A3YERAAT ! 6 A 40,000.0 - 40,000.0
»YASI36400 I3 10Y»AC YaAE - 46U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 40,000.0 - 40,000.0
2470|104 | 7 | 0 |Uy plwqudwnlbn 15,000.0 15,000.0 -
Eli[el)
2473|104 | 7 | 3 |2pnuwnontpintl 15,000.0 15,000.0 -
3 ATasu
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

= El 3 0 dwluubinh tGunbuwghnwlw = > 0 pinLot Gnuyh(

w2 2| E 2 pnLebnwih( dwiuubnh wlnbuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

1. 2pnuuippgnipiul quipquigntd 15,000.0 15,000.0 -
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 15,000.0 15,000.0 -

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbpnipIN GGG (wy (7,355,148.3) 877,558.0 (8,232,706.3)
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetnnipntGbEn (wy nwubph (7,355,148.3) 877,558.0 (8,232,706.3)
4A3T1=2Y40)
31 ATa0
1. _ [A4BRY»AC T»031A460 81,000.0 71,000.0 10,000.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 71,000.0 71,000.0 -
- UldoA»f ~ A== -3Y»h 5221 10,000.0 - 10,000.0
2. 2¢31640Al46Y N3U3lYo3icy 22,718.0 22,718.0 -
13303 1>A840A140Y Y»ACY
N&GOZAT3 F47Ad0AIa6YY»AC Ny a” IB& 1731
3Yix3A [363J40AI46YY»AC U3 140603y ~
-»A»BUSYSTY»AC GSN&3YU3Y N3U=37
- AYA=6CT 1A=U3RYAANY»A &» 1 313Y 4637 22,718.0 22,718.0 -
N=2USVaY»AC 43 3é izl
T3UUST»AAA&0AIA0YY»ACY
3. T36373A0U3Y " 1»Ox 1317313y 125,000.0 125,000.0 -
T»EYEra -C3Y»AC %3 - 36400
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 125,000.0 125,000.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. 2¢31640Al46Y N3U3Ya3igy 44 302,000.0 302,000.0 -
N3U3BIYa3IcY 13303 1»A840AI80Y Y»AC
IA3- A»AC Y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 250,000.0 250,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 52,000.0 52,000.0 -
T3UUST»AA40AIA0YY»ACY
5. 44 yCY3Ye3I3Y 31 aCIiY»AC G 3A40UC6 (8,242,706.3) - (8,242,706.3)
DELE il
20p=25A TaoUek £52020DL0 PATE<d 8111 (1,800,000.0) - (1,800,000.0)
PaOK £520a00/£0 BATEOS 8411 (6,442,706.3) - (6,442,706.3)
6. TAY3I3Y 03 74A40U 50,000.0 50,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 50,000.0 50,000.0 -
T3UUST»AA40AIA0YY»ACY
7. D3E6»3T4AU3Y SBE3T3Y0Y»fi 160,640.0 160,640.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 160,640.0 160,640.0 -
8. U»A1AasU3IcY TA3 - firiC CAZT3Y3640U 128,200.0 128,200.0 -
- DO TS TST3Y 1363[45Ala0YY»A 4234 8,200.0 8,200.0 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

= El 3 0 dwluutiph Gt Yua = > G pynLot Gnwyht

w2 2| E 2 pnLebnwih( dwiuubnh wlnbuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(N=3U3{YU=ICY) T3U%UST»AAA0AIAGY Y»ACY
9. A3AU31ICA Ix3AY»AC - 3YOU3Y 18,000.0 18,000.0 -
I363J46A146YY»hA
- DO TSWTST3Y 1363{40Ala0YY»h 4234 18,000.0 18,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 641,905.0 571,905.0 70,000.0
31 Ara0"

2560|05 | 6 | 0 | PAc3I= UCc3T3IAC &3BUE3Ya0AlasY (3l 641,905.0 571,905.0 70,000.0
13»ACY 4831 T3Y40)
£l

2561| 05| 6 | 1 |Piic31T3 UGc3 T3¢ 3R wa=YaAlay (SE 136»fiCY 641,905.0 571,905.0 70,000.0
A3TT=3Y40)
31 Ara0"
1. T3Y34 73A310Y»A¢ NeUYasU 150,000.0 80,000.0 70,000.0
83N&3v400
- Talasyt 1=3¢3asAlasy Vi 4213 20,000.0 20,000.0 -
- D3 YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=202Yo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 70,000.0 - 70,000.0
4. ECH3U3M-»AC EU»0146U0 ~ ISO1383 140U 291,905.0 291,905.0 -
- D3TAT YAST3T3(CY 3 ViasA»h 4269 125,405.0 125,405.0 -
- UTCA=T TanAlasyY»i 3 =flasld al»r=ay1a0 4819 166,500.0 166,500.0 -
T3UUST»AA40AIA0YY»ACY
5. A3=3640 I»Y13YCV»AC TY3634»Al4il 200,000.0 200,000.0 -
- 2 I3Eé»h 4861 200,000.0 200,000.0 -

2600/06| 0 | O ~U2T126202ULU PEU2628a0Ala0U <1 7,055,414.8 5,880,414.8 1,175,000.0

TagasU=t 12&20a0Alasuues

3 Ara0"

2610|106 | 1 | 0 | “YSI=3A3Y3gY BCY3AZ3na0Ala0Y 510,000.0 10,000.0 500,000.0
£l

261106 | 1 | 1 |7 YST3A3Y3(CY RCYSA3AaAlasy 510,000.0 10,000.0 500,000.0
31 Ara0"
1. £YOY3I3U 136406 Y»AC u3Y1460 10,000.0 10,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 10,000.0 10,000.0 -
2. 44Ahant 36w Cx3YC TAZASICY B»Yiu»AC 500,000.0 - 500,000.0

U3Y1y3y N» 1~ "3Yuai
phwlywnwnwdéntpin GGEphg gpyywé
pGwlhsGEph thnfuhwwnnigdwl hwdwn
phwlwnwGGbph dGrppbpnd
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ”
w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
- GLlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
2630|106 | 3 | 0 | @A3U3T313A3A40U 3,074,160.2 3,074,160.2 -
Ely[el)
2631|106 | 3 | 1 |@eASU3T3T3A3140U 3,074,160.2 3,074,160.2 -
3 ATasu
1. UA3YEC3IC D3YAZE» T 46AI3Y 2,300,622.8 2,300,622.8 -
Yupwywpn piul wowlgni prudp
CASI3Y36i40 @A~ 3Y¢
cA3UBTIIBABAU3Y " cASN»E36U3Y
IA3-ACY TA3U31AT40 1»EYCISI3Y
3c31640AI3Y I[A3-CA (B3TICA3TT3I
EQ BUAAA0AIEG W»ﬁz
- 2t [3Eeé»fi 4861 2,300,622.8 2,300,622.8 -
2. I»A3136400U3Y "~ %3i - 36U3Y 773,537.4 773,537.4 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CASI3Y36i40 @i 3Y¢
gpwiwnwlwpwpdwl pupbywddwl spwghp
(B3TICASIT31 EC344Ra0AIa0YY»H)
- 2t [3Eeé»fi 4861 773,537.4 773,537.4 -
2640|106 | 4 | 0 | B40406Y»AC F4a663TaAaiU 2,171,973.0 1,971,973.0 200,000.0
Eli[el)
2641|06 | 4 | 1 |6a046Y»AC Fase=Tanasl 2,171,973.0 1,971,973.0 200,000.0
3 ATasu
1. 2AT30CY F4663T4AAAIZY 63Y6C 185,000.0 - 185,000.0
NCUY3Yai4 - 460
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 185,000.0 - 185,000.0
2. 2AT30CY F4663T4AA0AIZY 63Y6C 1,971,973.0 1,971,973.0 -
B3N3-4AIU3Y ~~ §3N&3YU3Y
BRE3T3Y0Y»A
- 2t [3Eeé»fi 4861 1,971,973.0 1,971,973.0 -
4. §°Au30r40E! 6 ~A B»Yur»AC Yaha - 46U 15,000.0 - 15,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 15,000.0 - 15,000.0
2650|06 | 5 | 0 | “YSISAIY3CY BCY3ASAAGAIZY ~ T4U46Y3E 8,000.0 - 8,000.0
T36340AIa6YY»AC - T&T N» T334 1313Y
YBE3. [3cY 3E3T3Y0Y»A
Eli[el)
265106 | 5 | 1 |~ Y3ST3A3Y3(CY RCYSASAAAIBY ~ TaUasY3t 8,000.0 - 8,000.0
1363[a5AIa0YY»AC - TAT N» 1 3har3T3Y
YSE=-I3[CY SRE3T3YUY»f
3 ATasu
1. by YU»AC = BCYA6AIA6YY»AC N» 1 3%a 1 U3Y 8,000.0 - 8,000.0

BPE3T3Y0Y»A
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 swfuubinh Wl Gui = > & anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

- USE=- 13 13%ar313Y ISEé»f 5134 8,000.0 - 8,000.0

266006 | 6 | 0 | “YSI3A3Y3CY BCY3AS[A0AIZY ~ 1aU40Y3¢ 1,291,281.6 824,281.6 467,000.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
El(00)

266106 | 6 | 1 |~ YSTSA3YI(CY RCYSAZSAAIAIBY ~ Talaoy3t 1,291,281.6 824,281.6 467,000.0
1=3¢3a0Ala0YY»A (3l 136»ACY a&3TT3Y40)
31 Ara0"
3. “3I3lcy TBA3I0y»Ac 577,500.0 347,500.0 230,000.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
83N&3v400
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 147,500.0 147,500.0 -
a3Na=vail
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- P»YU»AG ~ RGYAAIASYY»AC T=é40645U 5112 180,000.0 - 180,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 50,000.0 - 50,000.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 170,000.0 20,000.0 150,000.0
3F 3RE3T3Y0Y»hA
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 20,000.0 20,000.0 -
a3\a=vail
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 150,000.0 - 150,000.0
5. 2A3(cY 1'3646/6Y»AC B3N=-4ATE6U ~ 320,000.0 320,000.0 -
83N&3v400
- 2 I3Eé»h 4861 320,000.0 320,000.0 -
6. T3A63/37Y»iAC E3N&3Y4iU 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»n313Y 4638 26,781.6 26,781.6 -
N=20=Yo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y6400Y»AC = 3JE BCYA6AIA6YY»AC 110,000.0 110,000.0 -
I»A3BYAAE- 40U ~ - 46Y3%3A1400
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 110,000.0 110,000.0 -
a3Na=vail
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 75,000.0 - 75,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 75,000.0 - 75,000.0
9. Talai0= - I»A¢ 136406400 = I»A=Yana - 46U 12,000.0 - 12,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 12,000.0 - 12,000.0

2700|070 | O 2gadz=2a2pacAlasy 165,000.0 15,000.0 150,000.0
31 Ara0"

2710|107 | 1 | O | “ABI3I3Y 3&A3YaY»A, 63A0»A 100,000.0 - 100,000.0
E3A0374A400Y»A
£l
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = B2 0 swfuutinh winbuwghnwlw = > & Gnwin

w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&A3YY»A 100,000.0 - 100,000.0
31 ATa0
1. 2640c383N313Y I33U31»A840AI40Y Y»AC 100,000.0 - 100,000.0
hwdwp pd>)Yuwlul ywppwynpm dGEph
dbrppbpnid
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 100,000.0 - 100,000.0

2760|107 | 6 | 0 | 2640¢3&3NacAlasy (3IF 13é»Acy 65,000.0 15,000.0 50,000.0
i437T13Ya0)
&RCo

2761/ 07| 6 | 1 [2640c=2A3N=T3Y NS3A3TCo 1=3¢3a0AlasYY»A 65,000.0 15,000.0 50,000.0
13- firf
31 ATa0
1. Upnnguiwwhwlwl opylunlbph 50,000.0 - 50,000.0
NeUY=3Yana - 460
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 50,000.0 - 50,000.0
2. AT3A3U3TEEC N» 13341 40AI46YY»AC 15,000.0 15,000.0 -
CAZT3Y3640U
- @36Y3 -0 3T3Y 1363(aAlasY Vi 4241 15,000.0 15,000.0 -

2800/08| 0 | O p=20v£eT, @p2TaolA i Taal 2,730,174.6 1,835,174.6 895,000.0
31 ATa0

2810|08 | 1 | O |P3Y-67C ~ 684ATC I36340AI45YY»h 704,000.0 354,000.0 350,000.0
&RCo

2811/08| 1 | 1 |[P3Y-&WwC " eAannC I3é63(asAlaoYY»h 704,000.0 354,000.0 350,000.0
31 ATa0
1. 6847 13IgY UCca63640UY»AC 66,000.0 66,000.0 -
13303 1»iA&a0U
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 66,000.0 66,000.0 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 590,000.0 240,000.0 350,000.0
136400400 46 33N43Ya0U
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 350,000.0 - 350,000.0
3. D» [BYT3NABE3AZ3IC B3N3- 41400 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,000.0 48,000.0 -

2820|108 | 2 | O |@B3T120A3CY [3E3a0AIA6Y Vi 1,966,154.6 1,421,154.6 545,000.0

anco’
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=t ATai0

&3N8q=Yaou

= 3| oy ﬁ

iz % Ca b pwdhaltnh, fudptph L nwubph, hOswtu Gub = AV YA

E = 2 3 = AYLI3U»YA

e pINLobWIhG dwiuutph nbunGuwghnwywl £ Jwpswywh pneet | $nlnwihl pnuet

ol =2 133130 U3Y NALTSTV»AC 3YT3V4UY»HA £
1 2|3 5 7 8 9

MASI3ABYY»A 396,520.2 151,520.2 245,000.0
3 ATasu
1. YAZ13[3Y3cY [SE3J4cAlacYY»a 151,520.2 151,520.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 151,520.2 151,520.2 -
(N3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
2. A313A3YY»A¢ NCUY3Yar4 - 46U 245,000.0 245,000.0
- b»YU»AC " BCYASAIASYY»AC TSACT 3t T»A3YaR4 - 46U 245,000.0 245,000.0
A3Y-3A3YY» " 64062eA3NY»f 234,202.4 234,202.4 -
3 ATasu
1. A3Y-3[A3Y3icY [SE3J40AIa0YY»A 234,202.4 234,202.4 -
04063N3Y1EY»ii
- Untpuhnhwbp ng $hOwbuwywl wtnwyw 234,202.4 234,202.4 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
2 UR3TAAZICY T3%UST»AAA0AIA0YY»A 933,408.0 633,408.0 300,000.0
3 ATasu
1. PB3T40A3ICY UCcad3640UY»AC 402,000.0 402,000.0 -
CASI3Y36460
- 2t AYA=6CT 1A3U=3/YARANY»A 402,000.0 402,000.0 -
2. YbGhnwiwpwlwlwl wigni 231,408.0 231,408.0 -
040031A40AI46Y Y»A
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 231,408.0 231,408.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. Ybhnwlwpwlwluwl wygn hhdGwGnpngnid 300,000.0 300,000.0
- P»YU»AC ~ BCYABAIASYY»AC TSACT3E T»ASYana- aU 300,000.0 300,000.0
2AT»eT 392,024.0 392,024.0 -
3 ATasu
1. CABABT 3AI»é1C ~ 83A3AI»E1C 84,220.5 84,220.5 -
N3U»A- Y»i
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 84,220.5 84,220.5 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. AST»A3I3Y Y»AI3I306400Y»A 307,803.5 307,803.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 307,803.5 307,803.5 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
PaR3A0SYY»AC ~ URSTAIAZICY SAA»UY»AC 10,000.0 10,000.0 -
»A3T3Y-YaU - &a3(a=vaU
3 ATasu
1. DAGBBA0BYY»AC I»A3YaAd-ail 10,000.0 10,000.0 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

25| 2 3 G Swhuutiph nGunk Yt E! 7 (nuyhG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
- P»YU»AC ~ T3840l6Y»AC AYAS6CT Yana- a0 4251 10,000.0 10,000.0 -
a3fasval

2830|108 | 3 | 0 |@31¢4 ~ N»édie T 3N304A1460Y»AC 36,000.0 36,000.0 -
N»é3[03T1U3Y ~ NA31T3A315313Y
1363464146V Y»i
Eli[el)

2831|08| 3 | 1 |bréaier=3631CaN=0an1ailY»h 36,000.0 36,000.0 -
3 ATasu
1. 2303038»T3A3YC 3E3T3Y0UY»AC 36,000.0 36,000.0 -
[nLuwipwln g
- @2V CU3T3Y 1363(a0AlasYY»fi 4241 36,000.0 36,000.0 -

2840|08| 4 | 0 | TAAY3I3Y =~ N3&63A31313Y 3 24,020.0 24,020.0 -
[36340Al46Y Y»A
Ely[el)

2843/ 08| 4 | 3 | TARAYST3Y ~ N3&3AST3T3Y 3 1363(40AI45YY»f 24,020.0 24,020.0 -
3 ATasu
1. 2Y13U31640A13Y ix3AY»hA 24,020.0 24,020.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 24,020.0 24,020.0 -
T3UUST»AAA0AIA0YY»ACY

2900(09| 0 | O ToAasAvasU 15,624,076.5 14,072,817.9 1,551,258.6
3 ATasu

2910|109 | 1 | 0 |USE318A46313Y ~ T3AA3I3Y AYIN3Y4&i 6,802,443.2 6,502,443.2 300,000.0
TAA&0AI4sY
Eli[el)

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 410,148.0 110,148.0 300,000.0
3 ATasu
1. USE318A46313Y &46640646U 110,148.0 110,148.0 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 110,148.0 110,148.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. USBE315/406313Y 466460U3Y 300,000.0 - 300,000.0
I3BBU31>A803Y N3U3A 3YNA3A»BT - 46/uC
dbrp pbpnid
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 300,000.0 - 300,000.0

2912/ 09| 1 | 2 | T3AAST3Y AV2N=Y46A TrAAGAIASY 6,392,295.2 6,392,295.2 -
3 ATasu
1. D3YASTAA3I3Y 466466460 5,766,193.7 5,766,193.7 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 5,766,193.7 5,766,193.7 -
2. D371 461 1hA&04l46Y 164,023.9 164,023.9 -
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=t ATai0

e
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
G253 23 mmgtnuwho suuthnontusghowyws | EE AT yunguiue prigt | pnonuing e
o =2 1363130-U3Y NaTT31Y»AC 3YT3YalUY»hA nE
1 213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 164,023.9 164,023.9 -
3. U»A=6=313Y 1iAdiAlasy 462,077.6 462,077.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 462,077.6 462,077.6 -

2920|109 | 2 | O |@CcY31=37- AYIN3Ya6R THA46AIAGY 7,124,009.9 7,124,009.9 -
ance’

2921/ 09| 2 | 1 |BCUY=T3Y AY1=Vasn TrA&oAlasY 6,813,678.2 6,813,678.2 -
3t Ata0
1. D3YASTAAZI3Y 406406400 6,277,198.8 6,277,198.8 -
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 6,277,198.8 6,277,198.8 -
2. D346l 1AAa6Alacy 162,411.9 162,411.9 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 162,411.9 162,411.9 -
3. U»A=6=313Y 1iAdiAlasy 359,121.3 359,121.3 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 359,121.3 359,121.3 -
4. PA»14I3Y TnAacAlacy 14,946.2 14,946.2 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 14,946.2 14,946.2 -

2922|109 | 2 | 2 |@CcY=T=3f- (EACT) AYLN=YadA TRA&SAIATY 310,331.7 310,331.7 -
3t Ata0
1. D3YASTAAST3Y 466406400 254,419.5 254,419.5 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 254,419.5 254,419.5 -
2. D346l 1AAa6Alacy 36,270.6 36,270.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 36,270.6 36,270.6 -
3. U»A=6=313Y 1iAdiAlasy 1,400.8 1,400.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,400.8 1,400.8 -
4. @A»14I=3Y 1nAacAlacy 18,240.8 18,240.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 18,240.8 18,240.8 -

295009 | 5 | O |A&T UST3A13IV»AC 41363130 - 7ao 1,137,923.4 436,664.8 701,258.6
I17AAacAlacy
ance’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 1,137,923.4 436,664.8 701,258.6
3t Ata0
1. 2AT318(46313Y 1369331404l 429,420.7 429,420.7 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,986.8 48,986.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 380,433.9 380,433.9 -

(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

2. 2AT318A46313Y 701,258.6 - 701,258.6
13303 1»A840A145Y Y»AC NCUY3Yahd - asl =~
I»A3Y4A4 - 46U
- b»YU»AC * BCYABAIASYY»AC TSACT3E I»Ai=Vana-4U | 5113 701,258.6 - 701,258.6
3. «<wlnp Yngnwly Yppwhwdwihp MNUY- 7,244.1 7,244.1 -
40U BAT318A46313Y 1387 C3A3140AI3Y
I'33U=31»A8400 (A3 T ICAZTT3T
EQ 2347404140 YY»H)
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 7,244.1 7,244.1 -

2960|09 | 6 | O | TAA40AIBYA TASU31ATA0 0A3Y13T 559,700.0 9,700.0 550,000.0
1363464146V Y»i
El(00)

2961/ 09| 6 | 1 |TAA&AIBYA wA=U=1iT40 0ASYL3T 1=263(40Al40YY»fi 559,700.0 9,700.0 550,000.0
31 Ara0"
1. UBE318A46313Y N36 131 40AI46YY»AC 550,000.0 - 550,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 550,000.0 - 550,000.0
2. BAAGSI3BYY»AC GFCUAC313Y»AC =~ 3 9,700.0 9,700.0 -
UCcd63640UY»AC 13303 1»A8400
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 9,700.0 9,700.0 -

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 1,634,776.0 1,634,776.0 -
3 Ara0"

3070(10 | 7 | O | @46C3¢3T13Y N340l SAT4Ya0Ala0YY»A (SlF 249,700.0 249,700.0 -
136»ACY 4431 T3Y40)
£l

3071|10| 7 | 1 |€46C3E3T3Y N3l SAwavasAlasyY»i (Sl 249,700.0 249,700.0 -
12E»fCY 4831 T3Y40)
3 Ara0"
3. 840C338»6 3YSE3NAT AY U 3YCUY»AcY 19,700.0 19,700.0 -
VAYSI3Y " NCBSWSIC Qf»AcY Sc31046Ala0Y
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 12,000.0 12,000.0 -
- W Gwwuinbbp pinuotihg 4729 7,700.0 7,700.0 -
4. B46C3H38»6 3YSE3NAT 3Y03Y6 215,000.0 215,000.0 -
Sc31640AI46Y
- W Gwwuwnbbp pinuobihg 4729 15,000.0 15,000.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
5. P3E3A3I3I3Y I3BU3I»AB40AI46YY»ACY 15,000.0 15,000.0 -
3c31640AI46Y
- UTCA=T TasAlasyY»i 3l =flasld al»r=ay1a0 4819 15,000.0 15,000.0 -

T3UUST»AAA0AIAYY»ACY
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

309010 0 | 846C3F313Y &381&3YaoAlaoy (3IF 1,385,076.0 1,385,076.0 -
13»ACY 4831 T3Y40)
&RCo

3092 10| 9 | 2 |846C3E3T3Y A3/ T ASYAAIBYA TH3U31AT40 1,385,076.0 1,385,076.0 -
0A3Y13T 1363(40Al40YY»h (S 136»AcY
&3TT3Y40)
31 Ara0"
1. @»7313Y NCUY3ATY»AC 1,249,512.0 1,249,512.0 -
I'33U31»A840A186Y Y»AC SRE3TA0Y»AC
B46C3E3I3Y ~3A»A4i 3E3N4i46U
(B3TICABIT3I FC34%ARA0AIA6Y Y»HA)
- W Gwwuinbbp pinuobihg 4729 1,249,512.0 1,249,512.0 -
2. 2640ca0AI3Y 383N4T= - AdoAlacY 135,564.0 135,564.0 -
- 233473 - A3T3Y I=Eé»i 4215 135,564.0 135,564.0 -

3100{11|0 | O pA@U=2T=2U ~2A£U0U°8£U a_2é7a0 6,047,307.0 6,072,307.0 3,000.0

a2pavéT=2U£U tal 28

31 Ara0"

311011 | 1 | O |PP IBE373[46AI3Y = N3U3)YOY»AC 6,047,307.0 6,072,307.0 3,000.0
&34 13Igy yayr
&RCo

3112 11| 1 | 2 |Pb R=3USIYUY»AC &=3Nasewr3(CY yavr 6,047,307.0 6,072,307.0 3,000.0
3 Ara0"
- a3Nasen=ICY UCcasY»h 4891 6,047,307.0 6,044,307.0 3,000.0
-{wunyuwgned wwhrunwhb $nlnhg $nlnuwhb pjniok X - 28,000.0 -
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P EISIN7
Of " 3Y uB030C 313-3V4)
2013 pqwywh neywnkiptph 25-h
N 97-U anarusy
20lase=T 2

©8°1 20Uk 2014 AT2T2UE ~Vateok 12842120 ©1 ual_ 2UEU @2&°6£0 D2TT20200U°BA" AeT ~UatecT2UAU 12E&°5K
Tasi=ze=T=20 1 TUTee=27M£T2T20 2621281020

2£260U02T 12832120 pdx2UE g=2éai

(N=%=f 1A3UY»RAT)

= “laie»W=(CY TSES»AC -anT=63T3Y 136¢313/-03Y | 3 ATasu

Ol CL
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 2,292,537.4 2,095,037.4 197,500.0
2100/01|0 | O AU _p=20a06 ~UasUAL p2Us=2040 399,300.9 389,800.9 9,500.0
T2e20a0A0a0U°s

31 ATa0

211001 | 1 | O |aA»YE1CA ~ -4AT3ICA USAUCYY»A, 381,661.0 376,161.0 5,500.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
anco’

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 381,661.0 376,161.0 5,500.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 381,661.0 376,161.0 5,500.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 292,565.0 292,565.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 35,410.9 35,410.9 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 7,582.3 7,582.3 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 200.0 200.0 -
- T3AC 1363(a0AlasYY»fi 4214 8,416.0 8,416.0 -
- 2330413 -A3T3Y I2E6»i 4215 200.0 200.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 300.0 300.0 -
- DT TT3T3Y 1363(40Ala0YY»A 4234 800.0 800.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph w)| SwrwjnLpnLtGOEn 4239 1,500.0 1,500.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 600.0 600.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 5,000.0 5,000.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 4,200.0 4,200.0 -
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 14,266.8 14,266.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,000.0 1,000.0 -
- A3A31Ch Tx3AY»h 4823 120.0 120.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- 13AE=13Y 63A0=T4RAUY»A 5122 5,500.0 - 5,500.0

2130|01| 3 | O |Lanhwlanip plGnyph SwrwynipintGlGGn 8,639.9 8,639.9 -
anco

2131|101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip plniyph 8,639.9 8,639.9 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640AI3Y ST1»AC 8,639.9 8,639.9 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
IEpU31»A8400 (A3 T TCAZIT=31
EQ BYAAA0AIEGY Y1)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 7,394.1 7,394.1 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 323.2 323.2 -
- T2AC 1363{a0AlasYY»h 4214 196.2 196.2 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 200.0 200.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoew 4261 417.3 417.3 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 4,000.0 - 4,000.0
I36346AIacYY»AC - T&T N» 13341313y
YSEZ.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp panyph hwapwihb SwewinienLbbtnh 4,000.0 - 4,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 4,000.0 - 4,000.0

2160|01| 6 | O |LanhwGnip pGniyph hwlpuyghG ) 5,000.0 5,000.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 5,000.0 5,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9

1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 2,000.0 2,000.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBYIZ3I ix3[a60Y»HA
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 3,000.0 3,000.0 -
-A3YOU3Y, - Y3IN3TU3Y =
T0» 13T T40AI3Y TA3U31A03Y N» 71
ISA731 ix3A400Y»hA
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 1,000.0 1,000.0 -
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -

2200/102|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al40Y (3IF 136»ACY 483 113Y4a0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %4A3184C I3BU3BI»A&U3YY 3c31646Al45Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 76,280.0 61,280.0 15,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 60,000.0 45,000.0 15,000.0
anco

2451|104 | 5 | 1 |O=Y=2&3AN3(CY wTAZYeQanT 45,000.0 45,000.0 -
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 45,000.0 45,000.0 -
- &3NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 45,000.0 45,000.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wA3YE 4R T 15,000.0 - 15,000.0
31 ATa0
1. I»f»E3TY»AC NCUY3YARAa - 46U 15,000.0 - 15,000.0
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 15,000.0 - 15,000.0

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 16,280.0 16,280.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipnLtGbEn (wy nwubph 16,280.0 16,280.0 -
4A3T1=2Y40)
31 ATa0
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wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
9. 3AT3ICA Ix3AY»AC - 3YOU3Y 16,280.0 16,280.0 -
1363146Al46YY»i
- UTCA=T TanAlasyV»i 3 s=flasld al»r=ay1a0 4819 16,280.0 16,280.0 -
T3UUST»AAA0AIA0YY»ACY

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 415,564.5 415,564.5 -
31 Ara0"

2510|105 | 1 | O |Unpwhwlnid 293,564.5 293,564.5 -
&RCo

2511105| 1 | 1 |UnpwhwGnLd 293,564.5 293,564.5 -
31 Ara0"
1. Unpwhwlnmpint b L ywGhunwpwluwl 293,564.5 293,564.5 -
U=30A46U0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 293,564.5 293,564.5 -

2560| 05| 6 | 0 | PACZT3 UCc3T3IAC &33BT A&3YadAl46Y (3IF 122,000.0 122,000.0 -
13»ACY 4831 T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13eé»Acy 122,000.0 122,000.0 -
A3TT3Y40)
3 Ara0"
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 120,000.0 120,000.0 -
83N&3v400
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 120,000.0 120,000.0 -
2. ZET3N3YU3Y " UCc3 T3 AlU3Y 2,000.0 2,000.0 -
I363JA0AIA0Y Y»ii /1»63 1 CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 2,000.0 2,000.0 -

2600/06| 0 | O “02T2582020£0 pEU262820A0a00 <1 252,000.0 79,000.0 173,000.0

TagasU=2t 12e=20a0A0a000°8

3 Ara0"

2610|106 | 1 | O | “YSI=A3Y3(CY BCY=3=ndiAlasy 2,000.0 2,000.0 -
&RCo

2611|106 | 1 | 1 |“YST3A3Y3(CY RCY=n3napAlasy 2,000.0 2,000.0 -
31 Ara0"
1. £YOY313U 1364006 Y»AC 03Y 1450 2,000.0 2,000.0 -
- 2k I=Eé»i 4861 2,000.0 2,000.0 -

2660|06 | 6 | O | “YIISAIYICY BCYIA3A46AI3Y  T4U46Y3¢ 250,000.0 77,000.0 173,000.0
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
&RCo
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w2 2| E 2 pnLebnwih( dwiuubnh wlnbuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 250,000.0 77,000.0 173,000.0
1=3¢340Ala0YY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwuwpwl 2GGptph hwppe 20,000.0 20,000.0 -
T3YCUY»AC I»A3Yaha- iU
- b»YU»AC ~ T3640l6Y»AC AYAS6CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
2. Puqudwplbwluwpwl 26Gplph plip 40,000.0 12,000.0 28,000.0
T 3YCUY»AC I»A3Yaha-aiU
-D3TAT YAST3T3(CY 3 ViasA»h 4269 12,000.0 12,000.0 -
- P»YU»AG ~ RCYAAIAYY»AC TBACT3E T»i=Vana-al0 | 5113 28,000.0 - 28,000.0
3. “3IBlcy TBA3Iay»Ac 160,000.0 15,000.0 145,000.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 140,000.0 - 140,000.0
- Z[E U»U»Y3Y»ii " 63A03 TanailY»h 5129 5,000.0 - 5,000.0
4. Puqulwplwluwpwl 26Gpbnh pwnpblwnqdwl 30,000.0 30,000.0 -
3F 3RE3T3Y0Y»A
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
- Untpuhnhwlbp ny wbunwywl (ng hwdwyGpuwyhl) ns 4521 10,000.0 10,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY

2800/08| 0 | O p=20v£eT, @p2TaolA i Taal 79,036.6 79,036.6 -
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~ER4ATC I363/40AI46YY»A 5,000.0 5,000.0 -
&RCo

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aRNC 1363(40Al40YY»h 5,000.0 5,000.0 -
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 5,000.0 5,000.0 -
13303178400
- 2[f AYA=6CT 1A3U3RYARANY»A 4639 5,000.0 5,000.0 -

2820|108 | 2 | O |@B3T140A3ICY [3E3a0AIa6Y Vi 74,036.6 74,036.6 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 44,544.8 44,544.8 -
31 ATa0
1. TASI3[3Y3(cY [363a0AladyY Yy 44,544.8 44,544.8 -
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &

1 (2|3 |4 5 6 7 8
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 44,544.8 44,544.8
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA40AIAGYY»A 20,000.0 20,000.0
3 ATasu
1. PB3T40A3ICY UCcad3640UY»AC 20,000.0 20,000.0
CASI3Y36460
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 20,000.0 20,000.0

2825/08| 2 | 5 |2AT»EW 9,491.8 9,491.8
3 ATasu
1. CA3ABU3AM»ETC ~ E3AZBAI»ETC 9,491.8 9,491.8
N3Ux»A - Y»i
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 9,491.8 9,491.8
(R=U=(Y0=UCY) T3%UST»AAAE0AIAYY»ACY

2900/09| 0 | O ToAabAlaU 986,040.7 986,040.7
3 ATasu

2910(09 | 1 | 0 |USE318/46313Y =~ T3AAZ13Y AYIN3Ya67 810,828.0 810,828.0
TAA&oAl46Y
anco

2911|109 | 1 | 1 |U=E314R46=1T3Y TRA&AIATY 810,828.0 810,828.0
3 ATasu
1. USE318A46313Y 406406400 810,828.0 810,828.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 810,828.0 810,828.0
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2950(09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 174,212.7 174,212.7
TAA&oAl46Y
anco’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 174,212.7 174,212.7
3 ATasu
1. 2AT318A46313Y 138 7 C3A3140A146Y 174,212.7 174,212.7
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 174,212.7 174,212.7
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2960|109 | 6 | 0 | TAA&OAIZYA TASU31AT40 GA3Y213T 1,000.0 1,000.0
[36340Al46Y Y»A
anco

2961|09 | 6 | 1 | TAA&AISYA wA3U31AT40 0A=Y13T 1=263(40Ala5YY»h 1,000.0 1,000.0
3 ATasu
1. UBE318/46313Y N36 131404146V Y»AC 1,000.0 1,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
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3092|10| 9 €40C3E3T3Y &3 A3YAAISYA TA=U31AT40 10,400.0 10,400.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - Ad6AI46Y 10,400.0 10,400.0
- 233413 -A3T3Y I2E6»i 4215 10,400.0 10,400.0
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E = — 3 =7 »

&2 3| E2 pnLebnwih( dwiuubnh wlntuwghinwywl e = Jwnswywl pynigt | pnlnuwyht pnigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 2,652,758.5 2,415,514.0 237,244.5
2100|010 | 0 AU _p=20a68 'UapUA/E p2082UEU 482,597.2 439,358.1 43,239.1
T12e20asAlasuues

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 463,957.3 424,718.2 39,239.1
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimguwnuyhl hwpwpbpnipiniGG6p,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 463,957.3 424,718.2 39,239.1
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 428,797.9 424,718.2 4,079.7
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 316,108.0 316,108.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 45,117.8 45,117.8 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 12,042.2 12,042.2 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 550.4 550.4 -
- T2AC 1363{a0AlasYY»h 4214 9,756.4 9,756.4 -
- 2330413 -A3T3Y I2E6»i 4215 150.0 150.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 120.0 120.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 1,600.2 1,600.2 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph w)| SwrwjnLpnLtGOEn 4239 1,700.0 1,700.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 520.0 520.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 4,650.0 4,650.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 5,808.2 5,808.2 -
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LT 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA &
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 21,447.8 21,447.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,997.2 1,997.2 -
- A3A31Ch Tx3AY»h 4823 150.0 150.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- T 3EST3Y 6303 TanaiUY»h 5122 4,079.7 - 4,079.7
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 35,159.4 - 35,159.4
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 35,159.4 - 35,159.4

2130|01| 3 | O |Lanhwlanip plGnyph SwrwynipintGlGGn 8,639.9 8,639.9 -
anco’

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 8,639.9 8,639.9 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST1»AC 8,639.9 8,639.9 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=pU31»A8400 (A3 1 TCAZIT31
EQ 2347404140 YY»H)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 7,777.1 7,777.1 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 397.6 397.6 -
- Tal&sy=t 13¢3(apAlasy Y»ii 4213 74.8 74.8 -
- T3AC 1363(a0AlasYY»fi 4214 231.6 231.6 -
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 108.8 108.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 40.9 40.9 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |L4anhwGnip pGniyph hwlpughG 4,000.0 - 4,000.0
T36340AIacYY»AC - T&T N» T3%41313Y
YSE3.[3gY 3BEZ13Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwpwihb SwewinienLbbtnh 4,000.0 - 4,000.0
-TAT N> 3BAT3T3Y ~ V3E=- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 4,000.0 - 4,000.0

2160|01| 6 | O |LanhwGnip pGniyph hwlpuyghG ) 6,000.0 6,000.0 -
T36340AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 6,000.0 6,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn Gapyuywgllihu
E3NUBYIZ3I ix3[a60Y»HA
- A3A31Ch Tx3AY»h 4823 3,000.0 3,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 3,000.0 3,000.0 -
-A3YOU3Y, - Y3IN3TU3Y =
T0» 13T T40AI3Y TA3U31A03Y N» 71
I3& 731 ix3A400Y»iA
- A3A31Ch Tx3AY»h 4823 3,000.0 3,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al4cY (3IF 136»AcY 483113Y4a0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %4A3184C I3BU3BI»A&U3YY 3c31646Al45Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 64,984.9 49,920.0 15,064.9
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 45,064.9 30,000.0 15,064.9
anco

2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 30,000.0 30,000.0 -
31 ATa0
1. Uupwywn-punnbw dwdlh Jbpwlnpngnid 30,000.0 30,000.0 -
- &3NE3YaiU
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 30,000.0 30,000.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wA3YE 4R T 15,064.9 - 15,064.9
31 ATa0
1. I»f»E3TY»AC NCUY3YARAa - 46U 15,064.9 - 15,064.9
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 15,064.9 - 15,064.9

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbGpnipIN GGG (wy 19,920.0 19,920.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipnLtGbEn (wy nwubph 19,920.0 19,920.0 -
4A3T1=2Y40)
31 ATa0
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
9. 3AT3ICA Ix3AY»AC - 3YOU3Y 19,920.0 19,920.0 -
1363146Al46YY»i
- UTCA=T TanAlasyV»i 3 s=flasld al»r=ay1a0 4819 19,920.0 19,920.0 -
T3UUST»AAA0AIA0YY»ACY

2500(05| 0 | O pd22T2 GF221208F a2bTaz2UasAlacy 643,759.5 643,759.5 -
31 ATa0°

2510|105 | 1 | O |Unpwhwlnid 458,759.5 458,759.5 -
Ely[el)

2511|05| 1 | 1 [UnpwhwGntd 458,759.5 458,759.5 -
31 ATa0°
1. Unpwhwlnmpint b L ywGhunwpwluwl 458,759.5 458,759.5 -
U=30A46U0
- TaUasY3t 1=3é63la0AlasYY»i 4213 458,759.5 458,759.5 -

2560/ 05| 6 | 0 |bAc3TI=3 UCc3T3IA¢C &30 E3Y40Al45Y (3IF 185,000.0 185,000.0 -
13»ACY 4831 T3Y40)
Eli[el)

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13eé»Acy 185,000.0 185,000.0 -
&3 1=Ya0)
31 AT40°
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 185,000.0 185,000.0 -
a3NE3va00
- TaUasY3t 1=3é63la0AlasYY»A 4213 185,000.0 185,000.0 -

2600/06| 0 | O 0212620200 pEU2828a0A0a0U ©1 228,569.5 49,629.0 178,940.5

TagasU=2t 12e=20a0A0a000°8

31 AT40°

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAGY 1,000.0 1,000.0 -
Eli[el)

2611|106 | 1 | 1 |“YST3A3Y3ICY RCY3n=3napAlasy 1,000.0 1,000.0 -
31 AT40°
1. £YQY313U 1364006 Y»AC 03Y 1460 1,000.0 1,000.0 -
- 2t ISEé»f 4861 1,000.0 1,000.0 -

2660|106 | 6 | 0 | “YSI3A3Y3CY BCYSASBAEAIZY ~~ 14040V 3F 227,569.5 48,629.0 178,940.5
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
Eli[el)

2661|06| 6 | 1 |7 YST3ABY3(CY RCY2A=ha0AI=Y —~ Talasy3t 227,569.5 48,629.0 178,940.5
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 AT40°
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

1. Pwquiwplwlwpwa 26GpGpH hwpp 20,000.0 20,000.0 -
T3YCUY»AC i»A3YaAa - 46U
- b»YU»C * T=640l0Y»fiC AYASOCT Yafia - &iU 4251 20,000.0 20,000.0 -
a=N&=vail
2. Pwquiwplwlwpwl pGGpGph pbp 25,500.0 - 25,500.0
T3YCuY»AC i»A3YaAa - 4iU
- b»YU»AC * BCYABAIAGYY»AC TSACT3E T»i=Vafa-aU | 5113 25,500.0 - 25,500.0
3. “3I13igy 73A3Muy»Ac 162,069.5 8,629.0 153,440.5
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 8,629.0 8,629.0 -
a=N&=vail
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 138,440.5 - 138,440.5
- 2[f U»U»Y3Y»fi ~ 63A03 TanasUY»h 5129 15,000.0 - 15,000.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 20,000.0 20,000.0 -
3 BREST3Y0Y»A
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 50,696.0 50,696.0 -
3 ATasu

281008 | 1 | O |A3Y-EW¢ ~ 84ATC I363a0AI46YY»A 10,922.4 10,922.4 -
anco’

2811/08| 1 | 1 |[D3Y-&WC ~ eA4aRNC 1363(40Al46YY»h 10,922.4 10,922.4 -
3 ATasu
1. 884AT3ICY UCca63645UY»AC 5,638.7 5,638.7 -
I 3303178400
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 5,638.7 5,638.7 -
2. <wlbquunh qnuinplbph L qpnuwyghlbbph 5,283.7 5,283.7 -
1364006400 46 A3N&3Y4U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 5,283.7 5,283.7 -
a=N&=vail

2820|108 | 2 | 0 |@B3T140A3CY [3E3a0AIA6Y Vi 39,773.6 39,773.6 -
anco’

2821|108 | 2 | 1 |AZI3AZYY»A 17,631.4 17,631.4 -
3 ATasu
1. TASI3[3Y3cY [363a0AladyY Yy 17,631.4 17,631.4 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 17,631.4 17,631.4 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 7,760.1 7,760.1 -

=t ATai0
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1 (2|3 |4 5 6 7 8 9
1. D3U3Ya3lcY UBZTEGIAC ~ 3y31 A3U3Y6C 7,760.1 7,760.1
13303178400
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 7,760.1 7,760.1
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAA0AIATYY» 14,382.1 14,382.1
31 ATa0
1. DBZTE0A3ICY UCcAd3E400Y»AC 14,382.1 14,382.1
CA3T3Y3646U
- aliC  e3AUS TaRaUY»AC TSAOST3tacAlasY 4216 2,400.0 2,400.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 11,982.1 11,982.1

2900/09| 0 | O ToAabAlaU 1,099,833.2 1,099,833.2
31 ATa0

2910|109 | 1 | 0 |UBE318A406=313Y =~ T3AAZST3Y AVIN3Y461 983,820.0 983,820.0
TAA&oAl46Y
&RCo

2911|109 | 1 | 1 |U=E314R46=1T3Y TRA&AIATY 983,820.0 983,820.0
31 ATa0
1. USE318A46313Y 406406400 983,820.0 983,820.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 983,820.0 983,820.0
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 116,013.2 116,013.2
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 116,013.2 116,013.2
31 ATa0
1. 2AT318A46313Y 138 1 C3A3140A146Y 116,013.2 116,013.2
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 116,013.2 116,013.2
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 80,318.2 80,318.2
31 ATa0

307010 | 7 | O | @46C3F313Y N3 7461 3ATAYA0Ala6YY»A (SIE 36,545.0 36,545.0
13»ACY 4831 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3l SAwavasAlasyY»ni (S 36,545.0 36,545.0
13¢»ACY 83T T3Y40)
31 ATa0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 5,000.0 5,000.0
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT314A40AI3Y 13303 1»A8400
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8
- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 5,000.0 5,000.0
3. 840C3t38»6 BY3A3NAT AYT3YCUY»icy 23,720.0 23,720.0
VAYSI3Y " NCBSWSIC Qf»AcY S¢31046Ala0Y
- D3V YA 213y 3 YiasA»i 4269 3,000.0 3,000.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 19,870.0 19,870.0
- W Gwwunbbp pinuobihg 4729 850.0 850.0
4. 840C3E3E»6 3Y3E3N4T 3Y03Y6 7,825.0 7,825.0
c31640AI46Y

-D3WAT YA 213y 3 YidsA»i 4269 1,825.0 1,825.0
- W Gwwuinbbp pinuobihg 4729 6,000.0 6,000.0

309010 | 9 | O |846C3H313Y &33BT A&3Ya0Al46Y (3IF 43,773.2 43,773.2
13»ACY 4831 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3T3Y &SR T ASYAIAIATY (S 138»ACY 35,765.2 35,765.2
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 35,765.2 35,765.2

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 33,641.1 33,641.1
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 1,000.0 1,000.0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 52.2 52.2
- T2AC 1363{a0AlasYY»h 4214 89.0 89.0
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 300.0 300.0
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-ase 4261 366.2 366.2
- TASYEAAN T 3ICY YiaoA»A 4264 216.7 216.7
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0

3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=3U31AT40 8,008.0 8,008.0
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 8,008.0 8,008.0
- 2483413 -A3T3Y I3Eé»f 4215 8,008.0 8,008.0
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